Date	Project	Task	Notes	Hours	Rate	Total
1/15/2013	Disconnects	Sempra Settlement	Email exchange setting time for quarterly call	0.1	\$440	\$ 44.00
1/17/2013	Disconnects	General Participation	Review email from H. Goodson re: PG&E changes to disconnection timeline & follow up to same	0.2	\$440	\$ 88.00
1/23/2013	Disconnects	General Participation	Review email exchange re: follow-up on PG&E changes to disconnection timeline	0.1	\$440	\$ 44.00
1/25/2013	Disconnects	Sempra Settlement	Review monthly report	0.2	\$440	\$ 88.00
2/1/2013	Disconnects	Sempra Settlement	Review materials for quarterly call	0.2	\$440	\$ 88.00
2/1/2013	Disconnects	Sempra Settlement	Quarterly call re: settlement implementation	0.5	\$440	\$ 220.00
3/11/2013	Disconnects	Sempra Settlement	Email exchange setting time for quarterly call	0.1	\$440	\$ 44.00
4/26/2013	Disconnects	Sempra Settlement	Quarterly conference call re: settlement implementation & related issues	0.5	\$440	\$ 220.00
4/26/2013	Disconnects	Sempra Settlement	Review reports and material for quarterly call	0.2	\$440	\$ 88.00
5/7/2013	Disconnects	General Participation	Review consumer email exchange re: late notices	0.1	\$440	\$ 44.00
5/22/2013	Disconnects	General Participation	Review SCG draft advice letter re: past due payment notice	0.2	\$440	\$ 88.00
6/12/2013	Disconnects	General Participation	Review final SCG advice letter re: past due notices	0.1	\$440	\$ 44.00
6/18/2013	Disconnects	Sempra Settlement	Email exchange setting time for quarterly call	0.1	\$440	\$ 44.00
7/12/2013	Disconnects	Sempra Settlement	Participate in quarterly settlement call	0.4	\$440	\$ 176.00
7/16/2013	Disconnects	Sempra Settlement	Review notes from quarterly call; email to consumers re: initiating discussion on next steps following expiration of agreement	0.2	\$440	\$ 88.00

7/17/2013	Disconnects	Post-2013	Consumer email exchange re: call to discuss next steps after current requirements expire	0.1	\$440	\$ 44.00
7/18/2013	Disconnects	Post-2013	Further consumer email exchange re: post-2013 next steps and call re: same	0.1	\$440	\$ 44.00
7/19/2013	Disconnects	Post-2013	Consumer email exchange re: post-2013 call	0.1	\$440	\$ 44.00
7/23/2013	Disconnects	Sempra Settlement	Review settlement & past quarterly reports; notes re: same in preparation for consumer call on efforts to extend obligations	0.6	\$440	\$ 264.00
7/29/2013	Disconnects	Sempra Settlement	Review issues in Sempra Settlement for consumer discussion and potential extension; draft memo for consumers re: priorities and recommendations	1.2	\$440	\$ 528.00
7/30/2013	Disconnects	Post-2013	Review Phase 2 decision re: expiring obligations and continuing obligations; notes re: same & memo to consumers re: strategy for seeking to continue certain obligations	1.0	\$440	\$ 440.00
7/31/2013	Disconnects	Post-2013	Consumer email exchange re: next steps on sempra settlement & Phase II issues	0.2	\$440	\$ 88.00
8/8/2013	Disconnects	Post-2013	Consumer call re: goals for continued obligations following expiration of Sempra settlement & strategy for negotiations	1.5	\$440	\$ 660.00
8/9/2013	Disconnects	Post-2013	Review information from H. Goodson (TURN) re: customer charges for field visits related to service disconnections	0.1	\$440	\$ 44.00
8/13/2013	Disconnects	General Participation	Review Sempra information re: pyament for field visits	0.2	\$440	\$ 88.00
8/20/2013	Disconnects	General Participation	Review collections data from C. Watts-Zagha (ORA)	0.2	\$440	\$ 88.00
8/27/2013	Disconnects	Post-2013	Consumer email exchange in advance of call re: ongoing obligation negotiations; review materials re: same	0.2	\$440	\$ 88.00
8/27/2013	Disconnects	Post-2013	Consumer call re: ongoing obligations for utilities and negotiation strategies	1.4	\$440	\$ 616.00
8/28/2013	Disconnects	Post-2013	Follow-up consumer call re: IOU obligations post 2013	0.5	\$440	\$ 220.00
8/29/2013	Disconnects	General Participation	Review update re: SCG discontinuing charges for field visits	0.1	\$440	\$ 44.00
8/30/2013	Disconnects	Post-2013	Further email exchange w/ consumers re: negotiation priorities & setting next call	0.1	\$440	\$ 44.00

9/4/2013	Disconnects	Post-2013	Review vulnerable customer data from PG&E (from C. Watts- Zagha)	0.2	\$440	\$ 88.00
9/9/2013	Disconnects	Post-2013	Consumer call re: efforts to extend issues past end of 2013	0.7	\$440	\$ 308.00
9/10/2013	Disconnects	Post-2013	Further consumer calls re: negotiations to extend settlement/Phase 2 obligations	1.2	\$440	\$ 528.00
9/17/2013	Disconnects	Post-2013	Review write-up of consumer proposals for extension of obligations (from H. Goodson) in advance of consumer call; notes re: same	0.5	\$440	\$ 220.00
9/17/2013	Disconnects	Post-2013	Call w/ H. Goodson (TURN) re: accessible communications & consumer proposal re: continuation of obligations past 2013	0.2	\$440	\$ 88.00
9/18/2013	Disconnects	Post-2013	Review & edit draft consumer proposal; email exchange w/ consumers re: same	0.8	\$440	\$ 352.00
9/18/2013	Disconnects	General Participation	Review SCE data (from C. Watts-Zagha (ORA))	0.2	\$440	\$ 88.00
9/19/2013	Disconnects	Post-2013	Consumer email exchange re: finalizing proposal for ongoing obligations	0.2	\$440	\$ 88.00
9/20/2013	Disconnects	Post-2013	Call w/ D. Wong (NCLC) re: strategy for negotiations with IOUs	0.2	\$440	\$ 88.00
9/20/2013	Disconnects	Post-2013	Email exhange w/ consumers re: finalizing settlement proposal	0.2	\$440	\$ 88.00
9/23/2013	Disconnects	Post-2013	Call w/ E. Gallardo re: payment plan issue; email exchange w/ consumers re: call	0.2	\$440	\$ 88.00
9/23/2013	Disconnects	Post-2013	Consumer call re: utility proposal, payment plans & AMP option	0.8	\$440	\$ 352.00
9/23/2013	Disconnects	Post-2013	Review updated draft consumer proposal; email exchange w/ H. Goodson & consumers re: same	0.4	\$440	\$ 176.00
9/24/2013	Disconnects	Post-2013	Consumer email exchange finalizing plan to move forward with negotiations	0.1	\$440	\$ 44.00
9/26/2013	Disconnects	Post-2013	Review update from H. Goodson (TURN) re: contacts with IOUs for settlement discussion	0.2	\$440	\$ 88.00
10/1/2013	Disconnects	Post-2013	Email exchange w/ consumers re: status of IOU responses & setting call	0.1	\$440	\$ 44.00

10/2/2013	Disconnects	Post-2013	Update re: PG&E response to consumer proposal	0.1	\$440	\$ 44.00
10/4/2013	Disconnects	Post-2013	Consumer email exchange re: agreement by IOUs to meet & scheduling for meeting	0.2	\$440	\$ 88.00
10/7/2013	Disconnects	Post-2013	Party email exchange scheduling call	0.1	\$440	\$ 44.00
10/9/2013	Disconnects	Post-2013	Exchange w/ parties re: setting dates for discussions on obligations after expiration of decisions	0.2	\$440	\$ 88.00
10/10/2013	Disconnects	Post-2013	Call w/ consumer groups (NCLC, TURN in separate calls) re: coordination moving forward w/ negotiations	0.4	\$440	\$ 176.00
10/10/2013	Disconnects	Post-2013	Review draft proposal to send to IOUs; email to consumers re: same	0.4	\$440	\$ 176.00
10/11/2013	Disconnects	Post-2013	Review revised draft proposal from ORA and draft cover letter for IOUs; email exchange re: same	0.3	\$440	\$ 132.00
10/15/2013	Disconnects	Post-2013	Review final consumer proposal re: post-2013 issues	0.2	\$440	\$ 88.00
10/18/2013	Disconnects	Sempra Settlement	Email exchange re: quarterly settlement meeting (did not attend)	0.2	\$440	\$ 88.00
10/21/2013	Disconnects	Post-2013	Email exchange w/ parties re: upcoming settlement meeting	0.1	\$440	\$ 44.00
10/22/2013	Disconnects	Post-2013	Email w/ parties re: attendance at settlement meeting & time for same	0.1	\$440	\$ 44.00
10/23/2013	Disconnects	Post-2013	Email exchange w/ consumers setting strategy meeting in advance of settlement talks	0.2	\$440	\$ 88.00
10/23/2013	Disconnects	Post-2013	Review consumer proposals; notes re: priorities & strategy for meeting	0.5	\$440	\$ 220.00
10/24/2013	Disconnects	Post-2013	Strategy session w/ consumers re: settlement negotiations priorities & plan	1.5	\$440	\$ 660.00
11/1/2013	Disconnects	Post-2013	Email exchange w/ H. Goodson re: update on settlement meeting (missed due to family emergency)	0.1	\$440	\$ 44.00
11/1/2013	Disconnects	Post-2013	Update from E. Gallardo (GL) re: status of settlement discussions	0.1	\$440	\$ 44.00
11/1/2013	Disconnects	Post-2013	Detailed update from H. Goodson re: settlement meeting, status of individual issues & strategy for moving forward	0.5	\$440	\$ 220.00

11/19/2013	Disconnects	Post-2013	Email exchange w/ IOUs re: settlement discussions & potential extension of deadlines; follow up email to consumers re: same	0.2	\$440	\$ 88.00
11/19/2013	Disconnects	General Participation	Email exchange w/ Sempra re: holiday moritorium on shut-offs	0.1	\$440	\$ 44.00
11/20/2013	Disconnects	Post-2013	Consumer email exchange setting call to discuss update from IOUs	0.1	\$440	\$ 44.00
11/20/2013	Disconnects	Post-2013	Consumer call re: IOU response in negotiations	0.7	\$440	\$ 308.00
11/26/2013	Disconnects	Post-2013	Review utility response to consumer proposals	0.3	\$440	\$ 132.00
11/26/2013	Disconnects	Post-2013	Strategy call w/ consumers re: utility response to proposal	0.9	\$440	\$ 396.00
12/2/2013	Disconnects	Post-2013	Call w/ H. Goodson (TURN) re: consumer strategy for post 1/1/14 protections	0.2	\$440	\$ 88.00
12/2/2013	Disconnects	Post-2013	Review accessible communications provisions of IOU counteroffer; notes re: other provisions	0.3	\$440	\$ 132.00
12/5/2013	Disconnects	Post-2013	Review draft data requests from consumers to IOUs; revise same; email to consumers re: same	0.5	\$440	\$ 220.00
12/6/2013	Disconnects	Post-2013	Consumer email exchange re: data request to IOUs	0.2	\$440	\$ 88.00
12/6/2013	Disconnects	Post-2013	Review ORA edits to consumer data requests	0.1	\$440	\$ 44.00
12/6/2013	Disconnects	Post-2013	Update from C. Watts-Zagha re: meetings with commissioners' office regarding potential extension of requirements	0.1	\$440	\$ 44.00
12/6/2013	Disconnects	Post-2013	Draft consumer data requests re: accessible communication issues	0.4	\$440	\$ 176.00
12/6/2013	Disconnects	General Participation	Review eltter re: Sempra holiday moritorium on shut-offs	0.1	\$440	\$ 44.00
12/13/2013	Disconnects	Post-2013	Review PG&E responses to consumer data requests	0.2	\$440	\$ 88.00
12/17/2013	Disconnects	Post-2013	Email exchange w/ consumers setting call re: ongoing negotiations for 2014	0.1	\$440	\$ 44.00
12/17/2013	Disconnects	Post-2013	Review SCE responses to consumer data requests	0.2	\$440	\$ 88.00
12/18/2013	Disconnects	Post-2013	Call w/ H. Goodson (TURN) re: efforts to maintain status quo pending ongoing negotiations; call w/ E. Gallardo (GL) re: same	0.2	\$440	\$ 88.00

12/19/2013	Disconnects	Post-2013	Review letter from Paul Clannon requesting maintenance of status quo during negotiations	0.1	\$440	\$	44.00
12/19/2013	Disconnects	Post-2013	Consumer call re: responses to utilities following data request responses	1.0	\$440	\$	440.00
12/19/2013	Disconnects		Review summary of utility responses to consumer proposal (from H. Goodson)	0.2	\$440	\$	88.00
12/20/2013	Disconnects	Post-2013	Review draft consumer response from C. Watts-Zagha (ORA); consumer email exchange re: same & edits	0.4	\$440	\$	176.00
12/30/2013	Disconnects	Post-2013	Review IOU NDAs to govern settlement discussions	0.2	\$440	\$	88.00
Totals:				29.0		\$12	2,760.00